SLZFDOLREBEE - BERT—VRXALRTF 2a—IL

9H (1HB8) 108 (2BB8)
BE HEEE BE
i = = 5 = i =
10:00~10:05 F—=T=>7 10:00~10:05 F—=T=7 9:50~9:556 F—=T=>7 9:50~9:55 F—=T=>7
10:10~12:15 BEEER 10:10~10:30 MR 2 2480 10:00~11:00 BERER 10:00~10:20 MR AR
12:40~12:55 D IRF R 10:35~10:50 Triumph20 11:15~11:30 DT ELED 10:25~11:10 2 RER
13:05~13:25 ;%%ELE\.%\ b 10:55~11:05 Snowflake 11:30~12:20 B =i 11:15~11:20 EEHFREED FY O
2
13:40~14:00 MR &= ZEER 11:10~11:15 mirinar 12:25~12:50 =SSR 11:25~11:35 MYLASSK
14:10~14:35 /N ER 11:20~11:55 2 RER 13:00~13:20 MREZEER - N U EE T 11:40~11:50 IRIS
12:40~13:15 PREXS 13:35~13:55 R Z= 28R 11:55~12:05 The koujirou
13:20~14:30 DERIE 13:55~14:05 ANE X 12:30~13:25 BgFEar TR b
14:05~14:35 2 RE 13:30~14:30 OR=]i=
14:35~14:45 ANE R
14:45~15:10 /N ER




